MYGR/MYGR-E SERIES

B1-5i5% B MODEL ILLUMINATE

WYGRoso JS

| REHAS |
i MYGR060/MYGR090/MYGR120/MYGR160 i
 MYGR-E060/MYGR-E090/MYGR-E120 :
» MYGR-E160 :

TELY : BgR(L1) : 3,4,5,6,7,8,10,14,20

80,100,120,140,160,200

W (L2) : 12,15,20,25,30,35,40,50,60,70

HERIEH] . MYGR090-10/MHMD-082G1U

MHAEITUREE - ST EEEH

S2 : MiSEE

=y N CL =
DIAHERES

98 ® © 0000 0000 0

BFH + FRE + RS

gt -MYGR REiEHL

MYGRO060 MYGR090 MYGR120 MYGR160
s MYGR-E060 MYGR-E090 MYGR-E120 MYGR-E160
3 55 130 208 342
4 50 140 290 542
5 60 160 330 650
6 55 150 310 600
1 7 50 140 300 550
8 50 140 290 542
10 60 160 330 650
14 50 140 300 550
20 40 100 230 450
12 55 130 208 342
15 55 130 208 342
20 50 140 290 542
25 60 160 330 650
30 55 130 208 342
S 15 T Nm 35 60 160 330 650
40 50 140 290 542
50 60 160 330 650
Z 60 55 150 310 600
70 60 160 330 650
80 50 140 290 542
100 60 160 330 650
120 = 150 310 600
140 _ 140 300 550
160 = 120 260 500
200 - 100 230 450
A HETs Nm 1,2 3~200 fEEERHAKE
HUE N EEEn rpm 1,2 3~200 5,000 4,000 4,000 3,000
RABAEENS rpm 1,2 3~200 10,000 8,000 8,000 6,000
2 el 1 3~10 <13 <13 <13 <13
2 12~200 <15 <15 <15 <15
AN Nm/arcmin 1,2 3~200 7 14 25 50
BFRME HFae? N 1,2 3~200 1,530 3,250 6,700 9,400
BT A I 2016 N 1,2 3~200 630 1,300 3,000 4,000
AYFIE SIF 206 N 1,2 3~200 765 1,625 3,350 4,700
ERF®m hr 1,2 3~200 20,000*
1 3~20 <95%
M n % 2 12~200 <92%
= k 1 3~20 2.1 6.4 13 24.5
ER J 2 12~200 25 7.8 14.2 27.5
FERBRE °C 1,2 3~200 -10°C~ +90°C
EE 1,2 3~200 & ROEB e
B &R 1,2 3~200 P65
ZERHME 1,2 3~200 EEHB
B E{E ( n:=3000rpm ) dB 1,2 | 3~200 <63 <65 <68 \ <70

RE -MYGR REHL

HHiRE )

1RIELE (i=Nin/Nout )

kg - cm?

*ESERREAEAFR =22

® © e000 0000 0 99

MYGRO060 MYGR090 MYGR120 MYGR160
MYGR-E060 MYGR-E090 MYGR-E120 MYGR-E160

3~7 0.35 2.25 6.84 23.4

1 8~10 0.07 1.87 6.25 21.8
14~20 0.07 1.87 6.25 21.8

12~40 0.09 0.35 2.25 6.84

50 0.09 0.31 1.87 6.25

2 60 0.09 0.35 2.25 6.84
70~100 0.09 0.31 1.87 6.25
120~200 = 0.31 1.87 6.25

25 100rpm &Y, A THHHPOMNME,



5 R~HE /OUTLINE DIMENSION SHEET

MYGR-060-L1

BFH + FRE + RS

BB / INPUT c9 Wit / OUTPUT
c8
8
4»3 ]
>
| —
8 23
— ]
15_| 1.5_|
! S
3 =
[&]
[ “
3
— 1T
C¥F| 8 8
C567
MYGR-060-L2
B / INPUT C9 % / OUTPUT
3 cs
ocr 060
285
3 22
] 2
& N ol
g = s
15 _| 1.5
g 4-@5.5 [
[ “
— T FE
C¥r| 8 8
Cher

HiHiheE /Output Diameter

M85x0.8P

2146

266.7 4-M4x12 28 33 (@381 55 | 60 | 93 (156 | 7 |775| 110

MYGR-060-L1| @70 | 4-M4x12,4-M5x12 | @11,814 | 33 | @50 | 55 | 60 | 93 | 156 | 7 |775| 110
290 | 4-M5x15,4-M6x15 | @19 42 | @0 | 7 80 | 93 (166 | 9 87 [119.5

266.7 4-M4x12 28 33 (@381 55 | 60 | 122 185 | 7 |775| 110

MYGR-060-L2 @70 | 4-Mdx12,4-M5x12 | @11,814 | 33 | @50 | 55 | 60 | 122 | 185 | 7 | 775 | 110
290 | 4-M5x15,4-M6x15 | @19 42 | @0 | 7 80 | 122 (195 | 9 87 [119.5

*CI~CTRARIRED AR Z R, WREE A ER B E .

* C1~C7are motor(metric standard) specific dimensions, which could be customised.

100 o o o000 00000

BFH + FRE + RS

M2 R~ E /OUTLINE DIMENSION SHEET

MYGR-E-060-L1

B / INPUT o] 3% / OUTPUT
oo 33 cs
285 4-M5X10
B_ 22
g8 = g
B s N
S
2 5
[
3
— T
C¥| 8 8
C5e7
MYGR-E-060-L2
BB/ INPUT Co It / OUTPUT
33 c8
oc7 285
)
) o
g =
15_| 15 %
5
c2 3 =
[
— T Tl
cw| 8| 8
Cbe7

¥y 4= /Output Diameter

5ho

ﬁi M5x0.8P

P14ne

® o e 000 [()]

266.7 4-M4x12 a8 33 |@381| 55 | 60 | 93 | 156 | 7 | 775 | 110

MYGRE-060-L1 @70 | 4-Md4x12,4-M5x12 | @11,814 | 33 | @50 | 55 | 60 | 93 | 156 | 7 |775 | 110
290 | 4-M5x15, 4-Méx15 219 42 |10 | 7 8 | 93 [ 166 | 9 87 [119.5

266.7 4-M4ax12 28 33 |@381| 55 | 60 122 (185 | 7 |[775 | 110

MYGR-E-060-L2 @70 | 4-Mdx12,4-M5x12 | 211,014 | 33 | @50 | 55 | 60 | 122 | 185 | 7 |775 | 110
290 | 4-M5x15, 4-M6x15 219 42 | e10| 7 80 122 (195 | 9 87 |119.5

*CI~CTRATIIRE DIAERRZ R, TIREEFERAME M.

* C1~C7are motor(metric standard) specific dimensions, which could be customised.



= =
BIF + RE + RS
ZA c
5p2 R~ E /OUTLINE DIMENSION SHEET
MYGR-090-L1
SIS / INPUT % Hithd% / OUTPUT
41 c8
10 090
365 2116
28
~ ——— 8
g B s
? | %
165 15[ o~
o
5 | —
: ™ ° so1 [T |
== 3 ——
L1 1O
- ==
okl 8 | 2
C5e7
MYGR-090-L2
WA/ INPUT Co #ti3% / OUTPUT
41 c8
0Oc7 10 090
%5 *F*
b 28
~ o S— (2]
g == 8 AN
S |
165] 15| % o
S
3 5 | |
] ° bl H
I T T | |
T T g
|EREEE
T
C3¥7| 8 8
C567
# %42 /Output Diameter
6ho R+ ¢ c2 c3 C4 C5 C6 C7 C8 C9 CI0 Ci1 Cf2
M6x1.0P @90 | 4M5x15, 4MBx15 | @19 | 44 | @70 | 7 | 80 | 123 | 209 | O | 96 |1425
2 2100 4-M6x15 216,019 44 | 280 7 86 | 123 | 209 9 96 |1425
g MYGR-090-L1
o115|  4MBQ0 | @19822,024| 565 | 95 | 10 | 100 | 123 | 214 | 175 |1085 | 155
2145 4-M8x20 219,022,024| 60 |@110| 8 130 | 123 | 229 | 21 112 | 158.5
290 | 4M5x15, 4MEx15 | @19 | 44 | @70 | 7 | 80 | 164 | 250 | 9 | 96 |1425
2100 |  4M6xi5 o16019 | 44 | @80 | 7 | 86 | 164 | 250 | O | 96 |1425
MYGR-00-L2
o115|  4MBQD | @19.022,024| 565 | 995 | 10 | 100 | 164 | 255 | 175 |1085 | 155
o145 4MBQD | @19222024| 60 |10 8 | 130 | 164 | 270 | 21 | 112 |1585

*CICTRANIHREDIAEEIRZ R, TRIEEFERBMEN.

* C1~C7 are motor (metric standard)specific dimensions, which could be customised.

102

BFH + FRE + RS

M2 R~FE /OUTLINE DIMENSION SHEET

MYGR-E-090-L1

NS/ INPUT c i / OUTPUT
4y cs
%5
.14 28 >\
o 2
8 S I Q V4
8¢ = Saw
185] 15 o
by
| 3
all T
T T < I
O © ’
Tt
C3r| 8 8
C567
MYGR-E-090-L2
NS INPUT o i  OUTPUT
4 cs
%5 ‘
4 28
e | & 2
§ T
(S %
185| 1.5 % o~
S
sl T °
I T T | <«
! ! [>]
o
T
C¥7| 8 g
C5a7
[ 3% 442 /Output Diameter 4
- R+ o c2 c3 C4 C5 C6 C7 C8 C9 CIO CI1 Ci2
M6x1.0P 090 | 4M5x15, 4Méx15 | @19 | 44 | @70 | 7 | 80 | 123 | 200 | © | 96 |1425
@ o100|  4Mexis 016019 | 44 | 080 | 7 | 86 | 123 | 200 | O | 96 |1425
g MYGRE-00.1
o115|  4M8x0 | 219,022,024 | 565 | @95 | 10 | 100 | 123 | 214 | 175 | 1085 155
o145|  4MBQ0 | 219022.004] 60 |@10| 8 | 130 | 123 | 229 | 21 | 112 | 1585
090 | 4M5x15, 4M6x15 | @19 | 44 | @70 | 7 | 80 | 164 | 250 | 9 | 96 |1425
oREsoln 20| 4Mexs 016019 | 44 | 280 | 7 | 86 | 164 | 250 | O | 96 |1425
o115|  4MB0 | 219822,024| 565 | 295 | 10 | 100 | 164 | 255 | 17.5 | 1085 | 155
o145|  4Mex0 | 219022,024| 60 |@M0| 8 | 130 | 164 | 270 | 21 | 112 | 1585

® © e000 0000 0 103

* CI~CTRABIRE DIAERRZ R T, IREE FER SIMEH.

* C1~C7 are motor (metric standard)specific dimensions, which could be customised.



BFH + FRE + RS

4M R~FE /OUTLINE DIMENSION SHEET

MYGR-120-L1

SIS/ INPUT - c‘;g % / OUTPUT
oc7 " 20
st
*ﬁri.‘ \
~ ——— |
‘Of M
§ = N fx
23 2 |l O o~
ﬂg °
1 ; .
T T
O 3
[=1
r T3
(=]
C3F1 o
G567
MYGR-120-L2
c9 Y
- o it / OUTPUT
NI / INPUT s 0120
st
oc? ||
— [+
B4 il
E | — >\
‘O_ E i1
a |
o
2| 2l S
ﬂg T 5
1 0 — 13)
4 I |
N
e 8 | 5
C567
i K4k /Output Diameter
8o R+ ot c2 c3 C4 C5 C6 C7 C8 C9 Cl0 CM cCi2
M10x1.5P
Vs 2145 4-M8x20 019,022,024 | 64 | 2110 | 8 | 130 |146.5|2685| 21 |1355| 195
w MYGR-120-L1
NN 2200  4M12x30 235 82 |21143] 10 | 180 [1465(2935| 28 [1525| 212
@90 | 4-M5x15, 4 MBx15 | 219 44 [ o0 [ 7 [ 80 | 177219 | 9 | 96 [1555
2250 wverazia 21 4M6x15 @16019 | 44 | @80 | 7 | 86 | 177 | 279 | 9 | 96 |1555
115 4M8x20 | @19,022,024] 565 | @95 | 10 | 100 | 177 | 284 | 17.5 |108.5 | 168
2145 4M8x20 | @19,022024] 60 | 2110 | 8 | 130 | 177 | 209 | 21 | 112 [1715

* CICTRARBIBREDEERRZ R, TRETAERLMEN.

* C1~C7are motor(metric standard) specific dimensions, which could be customised.

104 o o 0000 00000

BFH + FRE + RS

M R~FE /OUTLINE DIMENSION SHEET

MYGR-E-120-L1

HSE / INPUT cs #1H% / OUTPUT
. 57 c8
oc7
51 4-M10X20
3 1 © ©
5_ 40 ) N & 5
= 70
Q=
<N Ny
2| 2| o o o s
b
4 -
4]l — 5
1 ] I
O 3 l
o
e
w
C3F7 o
C567
MYGR-E-120-L2
c9
- o #id3% / OUTPUT
BNIR / INPUT 5
ocr - -
5 40 n
= >
Q=
g8 =
8| 2] 5
] -
0 ! — 5
i ‘ ‘
e
ml
3 8l | &
Che7
[ i) H45h7Z /Output Diameter 4
8he Rt C1 (07) [ox} C4 C5 C6 C7 C8 C9 C10 Ci1 C12
M10x1.5P ey 218 | B0 019022024 | 84 | @110 | 8 | 130 |1465|2685| 21 |1355| 195
b Ta200]  4M12x30 235 82 |@1143] 10 | 180 |1465]2935| 28 |152.5] 212
@90 | 4M5x15, 4-M6x15 | @19 44 [ o0 | 7 |80 [177 279 | 8 | 96 [1555
N L 4-M6x15 o16019 | 44 | 280 | 7 | 86 | 177 | 219 | 9 | 9% |1555
‘[ o115 AM8x20 | @19.822,024| 565 | @95 | 10 | 100 | 177 | 284 | 17.5 |108.5| 168
o145 AM8x20 | 219.022024| 60 | @110 | 8 | 130 | 177 | 209 | 21 | 112 |1715

*CI~CTRAHIIRE DARERIR R T, TREEPEREMER.

* C1~C7are motor(metric standard) specific dimensions, which could be customised.

® © e000 0000 0 '105



v =1
BIF + RE + RS
5p2 R ~FE /OUTLINE DIMENSION SHEET
MYGR-160-L1
S/ INPUT e S 1 OUTPUT
87 c8
16 0175
79 T 2220
_ N
5| e |
[ ;
'{é‘ | —
s [V
L% | Lé, 8 4ot
61— ﬁ 9 [ [ [P ﬁ g
O 3
[=)
Bllms ey BT
C3F1 8T
C5¢7
MYGR-160-L2
9 HWLH¥% / OUTPUT
A / INPUT 87 c8
16 0175
79 ] %
5| 6 | D )
S >\
g I
s = \’f\
L 0 o
2 (&)
36 21 I 421
N I [ ] S
6 |~ |
O 3
Ol
B gy
cx 8
C567
i #4Z /Output Diameter
1200 R+ cf 2 c3 C4 C5 C6 C7 C8 C9 CI0 CH Ci2)
Vg Mi6aP ou5|  4MBQO 02024 | 72 | G110 | 10 | 130 | 180 | 338 | 205 | 149 | 226
ol [N MYGR-160-L1
2 2200  4MI2X30 @35 | 82 |@1143 10 | 180 | 180 | 357 | 265 | 160 | 237
ortaog OME | 4MBR0 019022024 ] 64 | o110 | 8 | 130 | 213 | 365 | 21 [1365] 211
Z40n6 0200  4M12x30 @35 | 82 |@1143] 10 | 180 | 213 | 390 | 28 |1525| 228

*CINCTRARBIEREDIAERRZ R, WIREEAERAMEM.
* C1~C7 are motor(metric standard) specific dimensions, which could be customised.

106 ® © e000 0000 0

BFH + FRE + RS

5M¥2 R ~HE /OUTLINE DIMENSION SHEET

MYGR-E-160-L1

AR / INPUT [} Sk / OUTPUT
ocy 87 c8
79 4M12X22
5 65 & =
] |1l 8 @EEQ \WRE
~ S ﬁ.\
= ¥ N2
«
36 2.1 (]
(&)
— 5
sl Rl || L | g
O 3
(=4
C3m ST
C567
MYGR-E-160-L2
c9 Hthi% / OUTPUT
A/ INPUT 87 c8
19
oc? |
5| 6 a \
2
~ (5]
8 5 H S
s [P A\
36 2 | o S
0
il . 3
el -
@) | 3 |
[=]
- g
cxkr 8
C567

i HEhTE /Output Diameter

[ miexp

® o000 [()/

Cc10 Cc1

WoRE{ap 21| 4MB0 022024 | 72 | @110 | 10 | 130 | 180 | 338 | 205 | 149 | 226
o200  4Mi2a0 835 | 82 |@1143| 10 | 180 | 180 | 357 | 265 | 160 | 237
o145  4MB0  |619022024 B4 | o110 | 8 | 130 | 213 | 365 | 21 |1355) 21
MYGR-E-160-L2
2200  4M12x30 035 | 82 |@1143| 10 | 180 | 213 | 300 | 28 |1525) 228

*CI-CTRAFIHRED A EERZ R, TRIBEFERAMEN.
*C1~C7 are motor(mefric standard) specific dimensions, which could be customised.




